
 

HINDI 
1.Answer& ¼D½ 
दैत्यारर 

2.Answer& ¼C½ 

अयादद संदि  

3.Answer& ¼A½ 

तत्पुरुष समास – वनवास शब्द में तत्परुुष समास ह।ै 

4.Answer& ¼B½ 

'पंचवटी' शब्दB में दिगु समास ह।ै 'पंचवटी' का समास 

ववग्रह होगा 'पांच वटों का समहू'। आसमें 'पांच' संख्यावाचक 

ववशषेण प्रयोग हुअ ह।ै ऄतः आसमें 'विग ुसमास' ह।ै 

5.Answer& ¼A½ 

पीतांबर' में 'कममिारय' समास ह।ै आसका ववग्रह 'पीत ह ै

वजसका ऄम्बर = ववष्णु' होगा। ऄन्य ववकल्प ऄसंगत हैं। 

ऄतः सही ववकल्प 'बहुव्रीवह' ह।ै 

6.Answer& ¼D½ 

ईपयुुक्त सलुवलत, ससंुगवित, पद्य पंवक्त 'शोवभत कर 

नवनीत वलए घटुरूनी चलत रेन ुतन मवडित मखु दवध लेप 

वकए। ' आन पंवक्तयों में वत्सल रस ह।ै ऄन्य ववकल्प 

ऄसंगत ह।ै ऄतः सही ववकल्प वत्सल रस ह।ै 

7.Answer& ¼C½ 
अलंबन की चेष्टा को ईद्दीपन और अश्रय की चेष्टा के 

ऄनभुव कहा जाता ह।ै रसोत्पवि में अश्रय की 

चेष्टाए ँअनुभाव कही जाती ह।ै 

8.Answer& ¼B½ 

'ट', 'ि', 'ि', 'ढ' वर्णों के प्रयोग का संबंध काव्यस के 

ओज गुर्ण से है। 

9.Answer& ¼B½ 
वजस काव्य रचना के पढ़ने या सनुने से पािक या श्रोता का 

वचि द्रववत हो ईिता ह ैवहाँ माधयुु गणु होता ह ै। ऄथाुत् 

ऄन्तः करण को अनंद , ईल्लास , से द्रववत करने वाली 

कोमल मधरु वणों यकु्त रचना में माधयुु गणु होता ह ै

। श ंगार या करूर्ण रस के प्रसंगों में सरृदय सामावजक का 

मन द्रवीभतू हो ईिता ह ै। 

10.Answer& ¼D½ 

(द)आनमें से कोइ नहीं 

11.Answer& ¼D½ 

रस के 9 प्रकार का वववरण जसैा वक हमने ईपर बताया 

वक रस 9 प्रकार के होते हैं। ... 

श्रृंगार रस श्रृंगार रस को रसराज और रसपवत भी कहा 

जाता ह।ै ... 

12.Answer& ¼A½ 

अदभिा (Literal Sense Of a Word)- वजस 

शवक्त के माध्यम से शब्द का साक्षात ्संकेवतत 

(पहला/मखु्य/प्रवसद्ध/प्रचवलत/पवूवुववदत) ऄथ ुबोध हो, 

ईसे 'ऄवभधा' कहते हैं। जसैे- 'बैल खडा ह।ै '- आस वाक्य 

को सनुते ही बैल नामक एक ववशषे प्रकार के जीव को हम 

समझ लेत ेहैं, ईसे अदमी या वकताब नहीं समझते। 

13.Answer& ¼B½ 

प्रकार सावहत्य में लक्षणा शवक्त दो प्रकार की मानी गइ 

ह—ै रूवढ़ और प्रयोजनवती। 

ऄवभधा शवक्त से वनरूवपत मखु्य ऄथु को बावधत करके 

रूवढ़(प्रवसवद्ध) या प्रयोजन (ईद्दशे्य) के कारण वजस ववृि या 

शवक्त से ऄन्य ऄथ ुकी प्रतीवत होती ह,ै शब्द के ऄथु का 

बोध करान ेवाली ईस शवक्त को लक्षणा शवक्त कहते हैं। 

जसैे कुशल ऄथाुत ्कुश को लाने वाला। लेवकन यहाँ पर 

कुशल का ऄथ ुकायु में दक्षता प्राप्त व्यवक्त से ह।ै 

14.Answer& ¼D½ 
O;aX;kFkZ 

15.Answer& ¼C½ 
rhu 

16.Answer& ¼B½  
vkKkdkfj.kh 

17.Answer& ¼A½  
O;fä ds gj çdkj ds d"V dks 

18.Answer& ¼A½ 
nUr 

19.Answer& ¼A½ 
nUrks"B 

20.Answer& ¼B½ 
midkj& HkykbZ 

21.Answer& ¼D½ 
fulku& fpà 

22.Answer& ¼B½ 



 

जो स्वतंत्र सिा धारण करन ेनही करते हैं, व ेयौदगक 

शब्द कहलाते हैं। 

23.Answer& ¼C½ 
fo|ky; 

24.Answer& ¼B½ 
lekukFkZd 

25.Answer& (D) 

6 

ENGLISH 
26.Answer: Option D 
The first blank will be filled with the 

indefinite article 'a'. Though the word 

following the blank starts with the vowel 

'u' but as the word 'university' starts with a 

consonant sound, 'a' shall be used in the 

first blank. 

And whenever 'U.S.A.' is mentioned, the 

definite article 'the' comes before it. 

27.Answer: Option B 
In the first blank, article "a" will be used 

because speaker is making a general 

statement about a picture. 

In the second blank, the speaker is 

specifically  

pointing out a specific wall, hence, article 

"the" will be used. 
28.Answer: Option B 

29.Answer: Option C 

30.Answer: Option D 

31Answer: Option D 

After being driven to the museum, 

Professor Kumar was dropped at his 

hotel. 
Given sentence is in past continuous tense 

and it is in active voice. 

Rule : 
Subject + (was /were) + being + V

3
 + 

Optional Agents. 

32.Answer: Option D 

I saw the rehearsal being conducted by 

him. 
Given sentence is in past continuous tense 

and it is in active voice. 

Rule : 

Subject + (was /were) + being + V
3
 + 

Optional Agents. 

33.Answer: Option C 

This matter should be looked into by 

you. 
The given sentence contains one of Model 

verb (Model Verb = will, shall, can, may, 

might, could, might, must, would). It is in 

active voice. 

Rule : 
Subject + Model verb + be + V3 + 

Optional Objects. 
34.Answer: Option D 
One word substitute is Regicide. 

Infanticide: the practice in some societies 

of killing unwanted children soon after 

birth. 

Matricide: the killing of one's mother. 

Genocide: the deliberate killing of a large 

group of people, especially those of a 

particular nation or ethnic group. 

Regicide: the action of killing a king. 

35.Answer: Option D 
One word substitute is Reproof. 

Warning: advance notice of something. 

Denigration: the action of unfairly 

criticizing someone or something. 

Impertinence: lack of respect. 

Reproof: an expression of blame or 

disapproval. 

36.Answer: Option C 
cheek by jowl: side by side. 

37.Answer: Option D 

chewing the cuds: To Muse on 

38.Answer: Option C 
Recommendation 

39.Answer: Option A 
Accessible 

40.Answer: Option C 
he was told 

41.Answer: Option D 
didn't play whole heartedly 

42.Answer: Option A 
One of the objectives 

43.Answer: Option D 



 

A number of measures are being taken by 

the State Governments for mobilisation of 

resources in order to improve the financial 

conditions of the Municipal Corporations. 

44.Answer: Option C 
That rule is applicable to everyone. 

45.Answer: Option A 

Jayant plays football as an experienced 

person. 

46.Answer: Option B 
A woman came in with a baby who, she 

said, just swallowed a safety pin. 

47.Answer: Option C 
She said, "My brother is getting married." 

48.Answer: Option A 
The boy enquired who dared call him a 

thief. 

49.Answer: Option D 

“From” 

50.Answer: Option C 

“With” 
 

 

MATHS 51-75 

51.ANSWER: A. 42 
Solution: 1 man is equivalent to 2 boys in 

work capacity. 12 men + 18 boys = 12 x 2 

+ 18 = 42 boys. 

Let the required number of boys be x. So 

Total number of people doing work = 21 

men x 2 (according to work capacity) + x 

boys. 

Taking respective ratios as required: 

Given: 

=> Hours 50:60 

=> Minutes per hour 9: 15/2 

=> Work 1:2 

=> People: 42: 42 + x 

=> 50 x 9 x 1 x (42+x) = 60 x 15/2 x 2 x 

42=> 42 +x = 84 

x = 42 

52.ANSWER: D. 9 minutes 
Solution: Let B be turned off after X 

minutes. 

Part of water will be filled by A + B in x 

minutes + After tap B is closed rest filled 

by A in (30-x) minutes = 1 

=> x/(time taken to fill the container by 

each separately) + 30 - x/(time taken to fill 

the container by A alone) = 1 

=> x(2/75 + 1/45) + (30-x)2/75 = 1 

=> 11x + 180 – 6x = 225 

Therefore, x = 9 minutes 

53.ANSWER: D. 26.67 km 
Solution: Distance travelled by each of 

them is to be made equal. 

=> Distance travelled walking = Distance 

covered cycling. 

Let after 4 hours of walking, A walk for x 

hours more before B catches up with him. 

=> Distance = Speed * Time 

(4+x)4 = 10x 

x = 8/3 

Therefore, It takes B 8/3 hours to catch up 

with A. Distance: 8/3 x 10 = 80/3 km = 

26.67 

 

 

54.ANSWER: C. 4 kmph 
Solution: Simple Division. 

No stream current mentioned. 

Trick question. 

Speed= Distance/Time. 

Speed= 3/4 km / (11.25/60) hr 

Therefore, Speed = 4 km/hr 

55.ANSWER: B. Rs 6600 
Solution: Let initial amount that the man 

invests be A 

Let x be the capital 

=> Profit on 1st investment + Profit on 2nd 

investment + Profit on 3rd investment 

=> S.I. = P X R X T 

=> Remainder of capital = 1 - 1/3 - 1/4 = 

5/12x (x being the capital) 

=> a*1/3 *7/100 + 1/4 *a * 8/100 + 

5x/12*a* 10/100 = 561 

Therefore, a = 6600 

56.ANSWER: C. Rs 8920 
Solution: Use the formula Amount = 

Principal Amount(1 + R/100)
n
 



 

Where r is rate and t is time in years 

=>13,380 = P(1+R/100) 
2
 --(1) 

=>20,070 = P(1+R/100) 
6 
--(2) 

=> 1.5 = (1+R/100) 
4
 

=> P = Rs 8920 

57.ANSWER: B.  
Solution: Let a be the side of square b be 

the side of triangle and r be the radius of 

the circle: 

It is given that perimeter of all the three 

figures is same 

=> 4a = 3b = 2πr 

=> a = 3b/4 

=> r= 3b/2π 

Areas: Now that we have all the three sides 

in terms of b we can equate and compare 

areas of the three equations: 

Square: 9b
2
/16 

Triangle: b
2
/4 

Circle: 9b
2
/4π 

From this we can say that Area (Circle) > 

Area (Square) > Area (Triangle) 

</s 

 

58.ANSWER: B. 12.36% 

Solution: Let old radius be 1r 

As the radius has increased by 6%, the new 

radius = 1.06 r 

New area = π (1.06r)
2
 

=1.1236πr
2
 

Increase: πr
2
 (1.1236) - πr

2
 

=> 0.1236πr
2 
/πr

2
 

=> 12.36% 

59.ANSWER: D. 4.6 
Solution: In the given question we have 

taken average of 6 numbers taken 2 at a 

time which makes 3 numbers. 

=> 3.95 (Average of 1st and 2nd number) 

=> 3.85 (Average of 3rd and 4th number) 

=> 3.4 (Average of 5th and 6th number) 

3.95 = (3.4 + 3.85 + x)/3 

x = 4.6 

60.ANSWER: C. 2 hours 
Solution 

Speed = distance/time 

Speed downstream: 96 / 8 km/hr = 12kmph 

Speed of stream = 4kmph 

Effective speed of boat = (12-4) kmph 

= 8kmph 

Distance to be travelled upstream= 8 km 

Speed upstream = boat speed-current speed 

= 8-4 kmph 

= 4 kmph 

Time taken = distance/speed = 8/ 4 hours 

=2 hours 

Thus it will take 2 hours to go upstream. 

61.ANSWER: A. 400 
Solution 

Using the formula: 

True Discount = (Banker’s Discount * 100 

* 100)+ Total Rate 

=> True Discount = 420*100/100+15 

= 400 

Thus the true discount is Rs 100. 

62.ANSWER: A. 6.25 
Solution: 

Runs scored in first 10 overs: 

=> Rate*Overs= 3.2*10 = 32 runs 

=> Required runs = 282-32 = 250 

=> Left overs= 40 

Required rate = runs/overs 

= 250/40 

= 6.25 

=> 6.25 runs per over is needed to win the 

game. 

63.ANSWER: A. 4.04 
Solution 

Given Error = 2% while measuring the side 

of a square. 

If the correct value of the side of square is 

100, the measured value: 

=> 100 + 2% *100 

= 100+2=102 

The area of square with edge 100 = 

side*side 

=> 100*100 

=> 10000 

The area of square with side 102 = 

102*102= 10404 

Error in area calculation = 10404-1000 = 

404 



 

% error= (404/10000)*100 

= 4.04% 

64.ANSWER: C. 4 
Solution 

Let the age of youngest child be X 

According to the question, 

X + (X+3) + (X+6) + (X+9) + (X+12) = 50 

5X + 30= 50 

5X = 50-30 

5X = 20 

X = 20/5 = 4 

Age of youngest child is 4 years. 

65.ANSWER: A. 20.68 
Solution 

Let length of other pipe be X 

According to question, 

30 = 45/100 X + X 

30 = 0.45X + X 

30 = 1.45 X 

X= 30/1.45 

X = 20.68m 

Thus the length of the other pipe is 20.68 

metres. 

66.ANSWER: D. 3 hours 45 minutes 
Solution 

Speed of man = 4kmph 

Time for which he cycled = 45 minutes. 

Distance covered = speed*time 

=> 4*45/60 

=> 3km 

Total time to cover 3 km = 45 minutes + 

15 minutes = 60 minutes = 1 hour 

Thus 3 km is covered in 1 hour 

Required distance to be covered = 12 km 

Beginning from origin point, he covers 9 

km in 3 hours taking 15 minutes rest after 

every 45 minutes. To complete 12 kms he 

goes another 3 km in 45 minutes. 

Thus, total time he takes is 3 hours 45 

minutes. 

67.ANSWER: A. 225m 

Solution: 

Let X be the length of the course 

according to the question, 

A beats B by 15 metres and C by 29 metres 

Applying this, 

If A runs X metres, B runs (X-15) and C 

runs ( X-29) metres. 

B and C together run, B runs X metres and 

C runs (X-15) 

=> If B runs 1 metre, C runs X-15/X 

=> B runs X-15 m, C runs (X-15/x) * (X-

15) 

APPLYING THIS, 

X-29 = (X-15)(X-15) / X 

Solving, 

X
2
 -29X= X

2
 – 30 X + 225 

X = 225 

Thus, length of the course is 225 metres. 

68.ANSWER: A. 3 9/17 hours 

Solution: It is given that Pipe A,B and C 

work simultaneously. 

Pipe A and B are filling the tank and Pipe 

C is emptying it. 

In 1 hour volume of tank filled by Pipe A: 

1/5th 

In 1 hour volume of tank filled by Pipe B: 

1/6th 

In 1 hour volume of tank emptied by Pipe 

C: 1/12th 

Working together Pipe A B and C fill x 

volume of tank. 

=>1/x = (1/5)+(1/6)-(1/12) 

=>x=60/17 hours 

69.ANSWER: C. 60 km/hr 
Solution: Let the speed of the slower train 

be x m/sec. 

Then speed of faster train becomes: 2x 

m/sec 

Relative speed =x+2x=3x 

(100+100)/8 = 3x 

x = 25/3 m/sec 

=>Speed of faster train= 2x=2*25/3 =50/3 

m/sec 

Converting into km/hr 

=>(50/3)*(18/5) 

=>60 km/hr 

70.ANSWER: C. 5 kmph 
Solution: Speed of the boat in still water: 

15 km/hr 

Speed of boat downstream: (15+x)km/hr 



 

where x is speed of the current. 

The boat travels 30 km downstream and 

then 30 km upstream and takes 9/2 hours. 

Total time= Time taken to travel 

downstream + Time taken to travel 

upstream 

=> 4/5= (30/(15+x))+(30/(15-x)) 

=>x= 5 

71.ANSWER: B. 100/x 
Solution: Formula for Simple Interest: 

SI = Principal*Rate*Time 

SI= x 

Rate= x/100 

Time= x 

=> x= Principal*(x/100)*x 

=>Principal Amount= 100/x 

72.ANSWER: D. 21 
Solution: Currently the mixture is in ratio 

of A/B: 7:5 

=> This means fraction of A in the 

solution: 7/12 

=> Fraction of B in the solvent: 5/12 

=>New concentration of A= 7-(7/12)9 

=>New concentration of B= 5-(5/12)9+x 

=> (7-(7/12)9)/(5-(5/12)9+x) = 7/9 

=>x=21 

73.ANSWER: B. 1 

Solution: To solve this question you must 

remember that: 

Logab= logb/loga (logx= log10x) 

=> (logb/loga)*(logc/logb)*(logb/logc) 

=>1 

74.ANSWER: B. 1/3 

Solution: Volume of a sphere: (4/3)* π*r
3
 

Area of a sphere: 4πr
2
 

=>It is mentioned that surface area when 

multiplied by r and a constant gives 

Volume and value of constant is to be 

found. 

=> 4πr
2
*r*k= (4/3)* π*r

3
 

=>k=1/3 

75. ANSWER: C 

Solution: 

1woman′s1day′swork=1701child's1day'sw

ork=1140(5women + 

10children)'sday'swork=570+10140=114+

114=17∴5womenand10chidrenwillcomplet

etheworkin7days 

SCIENCE 

76.Ans. C 

A fathometer is one such device that is 

used to determine ocean depths. 

77.Ans. D 

coronagraph, telescope that blocks the light 

of a star inside the instrument so that 

objects close to the star can be observed. It 

was invented in 1930 by the French 

astronomer Bernard Lyot and was used to 

observe the Sun's corona and prominences 

78.Ans. C 

The theory of chemical evolution was 

proposed by Aleksandr Ivanovich Oparin 

and J.B.S Haldane in 1992. 

79.Ans. A 

His last contribution was a book on the 

growth and development of the young 

animals entitled "De Generatione 

Animalium", published in 1651. A portrait 

of William Harvey. Harvey focused much 

of his research on the mechanics of blood 

flow in the human body. 

80.Ans. D 

Pressure Cooker: Alexander Twining 

81.Ans:  D 

Titanium dioxide is odourless and 

absorbent. Its most important function in 

powder form is as a widely used pigment 

for lending whiteness and opacity. 

Titanium dioxide has been used as a 

bleaching and opacifying agent in 

porcelain enamels, giving them brightness, 

hardness, and acid resistance. 

82.Ans:  D 

Producer Gas – Carbon monoxide and 

hydrogen 

83.Ans:  B 

Iridium metal is used by the jewellers to 

make gold and platinum ornaments 

heavier. Gold and Platinum are not suitable 

for making jewels in the pure form. 

84.Ans:   C 



 

It deals with propagation, manipulation 

and localization of light at the nanoscale. 

85.Ans:  C 

The future generation of patient would not 

have the deformities like the one for which 

the patient was treated. 

86.Ans:  D 

One of these gases is radon, produced by 

radioactive decay of the trace amounts of 

uranium present in most rock. 

87.Ans. C 
Lexan polymer is used in bullet proof 

glass. 

88.Ans. B 

When the distance between the two objects 

is doubled, the gravitational force 

becomes one-fourth. 

89.Ans. A 

Nylon and polyesters have strong 

intermolecular forces like Hydrogen-

bonding. 

90.Ans. A 

A pair of scissors 

91.Ans. B 
A synthetic polymer which resembles 

natural rubber is neoprene. 

92.Ans. D 

Examples of thermoplastics 

include polyethylene, polypropylene, 

polyvinyl chloride, polystyrene, 

polybenzimidazole, acrylic, nylon, and 

Teflon. 

93.Ans. B 

The law of dominance states that when 

parents with pure, contrasting traits are 

crossed together, only one form of the trait 

appears in the next generation. The trait 

which appears in the next generation is 

known as a dominant trait. The trait that do 

not express is called a recessive trait. 

94.Ans. D 

Mutation is a sudden, heritable change that 

takes place in DNA or RNA. The structure 

of a gene is changed at the nucleotide level 

and this change becomes heritable i.e. can 

be transmitted from one generation to 

another generation. 

95.Ans. C 

By experimenting with pea plant breeding, 

Mendel developed three principles of 

inheritance that described the transmission 

of genetic traits, before anyone knew genes 

existed. 

96.Ans.C 

It is defined as the ratio of speed of light in 

vacuum to the speed of light in the 

medium. 

97.Ans. C 

Twinkling of stars is due to atmospheric 

refraction. There are different layers in the 

atmosphere with varying temperature and 

density. This results in the variation of 

refractive index of the atmosphere with 

time. 

98.Ans. B 

A concave lens always forms a virtual 

image no matter where the object is. A 

concave lens is a diverging lens. It causes 

light to spread out, resulting in a smaller 

image for the viewer. 

99.Ans. D 

700 nm 

100.Ans. A 

Parsec – Distance 

76. ईिर. सी 

फैथोमीटर एक ऐसा ईपकरण ह ैवजसका ईपयोग समदु्र की 

गहराइ को मापने के वलए वकया जाता ह।ै 

77. ईिर. िी 

कोरोनग्राफ, टेवलस्कोप जो ईपकरण के ऄदंर एक तारे के 

प्रकाश को ऄवरुद्ध करता ह ैतावक तारे के करीब की 

वस्तओु ंको दखेा जा सके। आसका अववष्कार 1930 में 

फ्ांसीसी खगोलशास्त्री बनाुिु ल्योट िारा वकया गया था 

और आसका ईपयोग सयूु के कोरोना और प्रमखुता का 

वनरीक्षण करने के वलए वकया गया था। 



 

78. ईिर. सी 

रासायवनक ववकास का वसद्धांत 1992 में ऄलेक्जेंिर 

आवानोववच ओपररन और जबेीएस हल्दाने िारा प्रस्ताववत 

वकया गया था। 

79. ईिर. ए 

ईनका ऄवंतम योगदान 1651 में प्रकावशत "िी जनेरेशन 

एनीमवलयम" नामक यवुा जानवरों की ववृद्ध और ववकास 

पर एक पसु्तक थी। वववलयम हाव ेका एक वचत्र। हावे ने 

ऄपना ऄवधकांश शोध मानव शरीर में रक्त प्रवाह की 

यांवत्रकी पर कें वद्रत वकया। 

80. ईिर. िी 

प्रेशर कुकर: ऄलेक्जेंिर ट्वववनंग 

81. ईिर: िी 

टाआटेवनयम िाआऑक्साआि गधंहीन और शोषक ह।ै पाईिर 

के रूप में आसका सबसे महत्वपणूु कायु सफेदी और 

ऄपारदवशतुा दनेे के वलए व्यापक रूप से ईपयोग वकए जाने 

वाल ेवणकु के रूप में ह।ै टाआटेवनयम िाआऑक्साआि का 

ईपयोग चीनी वमट्टी के बरतन एनामले्स में ववरंजन और 

ऄपारदशी एजेंट के रूप में वकया गया ह,ै वजसस ेईन्हें 

चमक, किोरता और एवसि प्रवतरोध वमलता ह।ै 

82. ईिर : िी 

प्रोि्यसूर गसै - काबुन मोनोऑक्साआि और हाआड्रोजन 

83. ईिर : बी 

आररवियम धात ुका ईपयोग जौहरी सोने और प्लेवटनम के 

गहनों को भारी बनाने के वलए करते हैं। सोना और प्लेवटनम 

शदु्ध रूप में गहन ेबनाने के वलए ईपयकु्त नहीं हैं। 

84. ईिरः सी 

यह नैनोस्केल पर प्रकाश के प्रसार, हरेफेर और 

स्थानीयकरण से संबंवधत ह।ै 

85. ईिरः सी 

रोगी की भावी पीढ़ी में ईस तरह की ववकृवत नहीं होगी 

वजसके वलए रोगी का आलाज वकया गया था। 

86. ईिर: िी 

आनमें से एक गसै रेिॉन ह,ै जो ऄवधकांश चट्टानों में मौजदू 

यरेूवनयम की टे्रस मात्रा के रेवियोधमी क्षय िारा वनवमतु होती 

ह।ै 

87. ईिर. सी 

लेक्सन पॉलीमर का ईपयोग बलेुट प्रफू शीशे में वकया जाता 

ह।ै 

88. ईिर. बी 

जब दो वस्तओु ंके बीच की दरूी दोगनुी कर दी जाती ह ैतो 

गरुुत्वाकषणु बल एक चौथाइ हो जाता ह।ै 

89. ईिर. ए 

नायलॉन और पॉलीस्टसु में मजबतू ऄतंर-अणववक बल 

होते हैं जसैे हाआड्रोजन-बॉवन्िंग। 

90. ईिर. ए 

कैं ची की एक जोडी 

91. ईिर. बी 

एक वसंथेवटक बहुलक जो प्राकृवतक रबर जसैा वदखता ह,ै 

वनयोप्रीन ह।ै 

92. ईिर. िी 

थमाुप्लावस्टक के ईदाहरणों में पॉलीआथाआलीन, 

पॉलीप्रोपाआलीन, पॉलीववनाआल क्लोराआि, पॉलीस्टाआवनन, 

पॉलीबेवऩ्िवमिा़िोल, ऐके्रवलक, नायलॉन और टेफ्लॉन 

शावमल हैं। 

93. ईिर. बी 

प्रभतु्व का वनयम कहता ह ैवक जब शदु्ध, ववपरीत लक्षणों 

वाल ेमाता-वपता एक साथ पार हो जाते हैं, तो ऄगली 

पीढ़ी में केवल एक ही प्रकार का लक्षण वदखाइ दतेा ह।ै जो 

लक्षण ऄगली पीढ़ी में प्रकट होता ह ैईसे प्रभावी लक्षण के 

रूप में जाना जाता ह।ै जो लक्षण ऄवभव्यक्त नहीं होता, ईसे 

ऄप्रभावी लक्षण कहते हैं। 

94. ईिर. िी 

ईत्पररवतुन ऄचानक, वशंानगुत पररवतुन ह ैजो िीएनए या 

अरएनए में होता ह।ै एक जीन की संरचना न्यवूक्लयोटाआि 

स्तर पर बदल जाती ह ैऔर यह पररवतुन वशंानगुत हो 

जाता ह ैऄथाुत एक पीढ़ी से दसूरी पीढ़ी में प्रेवषत वकया जा 

सकता ह।ै 

95. ईिर. सी 

मटर के पौधे के प्रजनन के साथ प्रयोग करके, मेंिल ने 

वशंानकु्रम के तीन वसद्धांत ववकवसत वकए, जो वकसी को 

पता चलन ेसे पहले वक जीन मौजदू थे, अनवुवंशक लक्षणों 

के संचरण का वणनु करते हैं। 



 

96. ईिर सी 

आसे वनवाुत में प्रकाश की गवत और माध्यम में प्रकाश की 

गवत के ऄनपुात के रूप में पररभावषत वकया जाता ह।ै 

97. ईिर. सी 

तारों का वटमवटमाना वायमुिंलीय ऄपवतुन के कारण होता 

ह।ै वायमुिंल में ऄलग-ऄलग तापमान और घनत्व के साथ 

ऄलग-ऄलग परतें होती हैं। आसके पररणामस्वरूप समय के 

साथ वातावरण के ऄपवतुनांक में पररवतुन होता ह।ै 

98. ईिर. बी 

एक ऄवतल लेंस हमशेा एक अभासी छवव बनाता ह ैचाह े

वस्त ुकहीं भी हो। ऄवतल लेंस ऄपसारी लेंस होता ह।ै यह 

प्रकाश को फैलाने का कारण बनता ह,ै वजसके 

पररणामस्वरूप दशकुों के वलए एक छोटी छवव बनती ह।ै 

99. ईिर. िी 

700 एनएम 

100. ईिर. ए 

पारसेक - दरूी 

COMPUTER 

101. The username can be your name, the 

name of your business, or anything you 

want people to associate you with. Your 

username must be unique; you can't have 

the exact email address as someone else. 

After choosing your username, the next 

part of an email address is the @ symbol, 

also known as at sign. 

102. Drive-by downloads are a common 

method of spreading malware. 

Cybercriminals look for insecure web sites 

and plant a malicious script into the source 

code. 

103. Analogue computers rely on single 

atomic particles as units for information 

storage. 

104. It increases latency 

105. The Blue Brain Project is an attempt 

to create a synthetic brain by reverse 

engineering the mammalian brain down to 

the molecular level. 

106. In second generation (2G) mobile 

communication, 5 MHz multi-carrier 

system is used. 

107. Built between 1943-1945 at the 

University of Pennsylvania by 

engineers John Presper Eckert and John 

William Mauchly, ENIAC was created to 

calculate artillery tables - the projectile 

trajectories of explosive shells - for the US 

Army Ballistics Research Laboratory. 

108. There are technically two types of 

computer memory: primary and secondary. 

The term memory is used as a synonym for 

primary memory or as an abbreviation for 

a specific type of primary memory called 

random access memory (RAM). 

109. On almost all modern computers, a 

byte is equal to 8 bits. Large amounts of 

memory are indicated in terms of 

kilobytes, megabytes, and gigabytes. 

110. Optical discs are circular discs, that 

read data with the help of laser beam 

technology, for example: CDs, DVDs. 

Whereas Zip disk, is an advanced version 

of floppy disk. 

111. Audio files 

112. P2P, in full peer-to-peer, type of 

computer network often used for the 

distribution of digital media files. In a 

peer-to-peer (P2P) network, each computer 

acts as both a server and a client—

supplying and receiving files—with 

bandwidth and processing distributed 

among all members of the network 

113. The bottom line is that a single bit 

has two states: 0 and 1. Any value domain 

with more that two values in the domain 

cannot be represented using a single bit. 

114. Optical disc is the generic term when 

referring to a CD, DVD, Blu-ray or other 

storage medium which requires light to 

read or write data to. Optical discs come 

with a plethora of acronyms and 

abbreviations associated with each type of 

disc. 



 

115. Motherboard 

116. A group of scientists at the 

University of Cambridge were credited 

with inventing the first web cam in 1991 - 

and it was all because of a coffee pot! 

Many of the scientists worked on different 

floors in the same building, and when they 

wanted to get a cup of coffee they had to 

travel quite far to the main computer room 

to get a drink.Sometimes when they would 

get there the coffee pot would be empty, 

and this would be very disappointing. 

117. Some very typical examples of 

volatile memory are Cache memory and 

Random Access Memory (RAM). 

118. ALT+Enter Displays the properties of 

the selected object. ALT+SPACEBAR 

Opens the shortcut menu for the active 

window. 

119. BIOS (basic input/output system) is 

the program a computer's microprocessor 

uses to start the computer system after it is 

powered on. It also manages data flow 

between the computer's operating system 

(OS) and attached devices, such as the hard 

disk, video adapter, keyboard, mouse and 

printer. 

120. The term USB stands for "Universal 

Serial Bus". USB cable assemblies are 

some of the most popular cable types 

available, used mostly to connect 

computers to peripheral devices such as 

cameras, camcorders, printers, scanners, 

and more. 

121. Windows Logo +E 

122. HTML 

123. Secondary storage might 

include hard disk drives (HDDs), solid-

state drives (SSDs), optical disks, USB 

flash drives, floppy disks or other devices. 

124. Program Execution. Memory 

management Virtual Memory Multitasking. 

Handling I/O operations. Manipulation of 

the file system. 

125. Examples of the real-time operating 

systems: Airline traffic control systems, 

Command Control Systems, Airlines 

reservation system, Heart Pacemaker, 

Network Multimedia Systems, Robot etc. 

Hard Real-Time operating system: These 

operating systems guarantee that critical 

tasks be completed within a range of time. 

 

101. ईपयोगकताु नाम अपका नाम, अपके व्यवसाय 

का नाम, या कुछ भी हो सकता ह ैवजसे अप लोगों से 

जोडना चाहते हैं। अपका ईपयोगकताु नाम ऄवितीय होना 

चावहए; अपके पास सटीक इमले पता वकसी और के रूप 

में नहीं हो सकता ह।ै ऄपना ईपयोगकताु नाम चनुने के 

बाद, इमले पते का ऄगला भाग @ प्रतीक होता ह,ै वजस े

एट साआन भी कहा जाता ह।ै 

102. ड्राआव-बाय िाईनलोि मलैवयेर फैलाने का एक 

सामान्य तरीका ह।ै साआबर ऄपराधी ऄसरुवक्षत वबे साआटों 

की तलाश करते हैं और स्रोत कोि में दभुाुवनापणूु वस्क्रप्ट 

िालते हैं। 

103. एनालॉग कंप्यटूर सचूना भिंारण के वलए आकाआयों 

के रूप में एकल परमाण ुकणों पर भरोसा करते हैं। 

104. यह ववलंबता को बढ़ाता ह ै

105. ब्ल ूब्रेन प्रोजके्ट स्तनधारी मवस्तष्क को ररवस ु

आजंीवनयररंग िारा अणववक स्तर तक एक वसंथेवटक 

मवस्तष्क बनाने का एक प्रयास ह।ै 

106. दसूरी पीढ़ी (2जी) मोबाआल संचार में, 5 मगेाहटु्ज 

बहु-वाहक प्रणाली का ईपयोग वकया जाता ह।ै 

107. पेवन्सलववेनया ववश्वववद्यालय में 1943-1945 के 

बीच आजंीवनयरों जॉन प्रेस्पर एकटु और जॉन वववलयम 

मौचली िारा वनवमतु, ENIAC को अवटुलरी टेबल की 

गणना करने के वलए बनाया गया था - ववस्फोटक गोले के 

प्रक्षेप्य प्रक्षेपवक्र - ऄमरेरकी सेना बैवलवस्टक ऄनसंुधान 

प्रयोगशाला के वलए। 

108. तकनीकी रूप से कंप्यटूर ममेोरी दो प्रकार की होती 

ह:ै प्राथवमक और वितीयक। ममेोरी शब्द का ईपयोग 

प्राथवमक ममेोरी के पयाुय के रूप में या एक वववशष्ट प्रकार 



 

की प्राथवमक ममेोरी के संवक्षप्त नाम के रूप में वकया जाता 

ह ैवजस ेरैंिम एक्सेस ममेोरी (RAM) कहा जाता ह।ै 

109. लगभग सभी अधवुनक कंप्यटूरों में एक बाआट 8 

वबट के बराबर होती ह।ै बडी मात्रा में स्मवृत वकलोबाआट्स, 

मगेाबाआट्स और गीगाबाआट्स के संदभु में आवंगत की जाती 

ह।ै 

110. ऑवप्टकल विस्क सकुुलर विस्क होती हैं, जो लेजर 

बीम तकनीक की मदद से िेटा पढ़ती हैं, ईदाहरण के वलए: 

सीिी, िीवीिी। वहीं वजप विस्क, फ्लॉपी विस्क का ईन्नत 

संस्करण ह।ै 

111. ऑवियो फाआलें 

112. पी2पी, पणू ुपीयर-टू-पीयर में, कंप्यटूर नेटवकु का 

प्रकार जो ऄक्सर विवजटल मीविया फाआलों के ववतरण के 

वलए ईपयोग वकया जाता ह।ै एक पीयर-टू-पीयर (पी2पी) 

नेटवकु में, प्रत्येक कंप्यटूर सवरु और क्लाआटं दोनों के रूप 

में कायु करता ह-ै फाआलों की अपवूतु और प्राप्त करना- 

बैंिववि्थ और नेटवकु के सभी सदस्यों के बीच ववतररत 

प्रसंस्करण के साथ 

113. लब्बोलअुब यह ह ैवक एक वबट में दो ऄवस्थाए ँ

होती हैं: 0 और 1. िोमने में दो मानों से ऄवधक वाल े

वकसी भी मान िोमने को एक वबट का ईपयोग करके 

प्रदवशतु नहीं वकया जा सकता ह।ै 

114. सीिी, िीवीिी, ब्ल-ूरे या ऄन्य स्टोरेज माध्यम का 

वजक्र करते समय ऑवप्टकल विस्क सामान्य शब्द ह,ै 

वजसके वलए िेटा को पढ़ने या वलखने के वलए प्रकाश की 

अवश्यकता होती ह।ै ऑवप्टकल विस्क प्रत्येक प्रकार की 

विस्क से जडेु संवक्षप्ताक्षरों और संवक्षप्ताक्षरों की ऄवधकता 

के साथ अती हैं। 

115. मदरबोिु 

116. कैवम्ब्रज ववश्वववद्यालय के वजै्ञावनकों के एक समहू 

को 1991 में पहला वबे कैम का अववष्कार करने का 

श्रेय वदया गया था - और यह सब एक कॉफी पॉट के 

कारण था! कइ वजै्ञावनकों ने एक ही आमारत में ऄलग-

ऄलग मवंजलों पर काम वकया, और जब व ेएक कप कॉफी 

प्राप्त करना चाहते थ ेतो ईन्हें पीने के वलए मखु्य कंप्यटूर 

कक्ष तक काफी दरू जाना पडता था। कभी-कभी जब व े

वहाँ पहुचँते तो कॉफी पॉट होता खाली, और यह बहुत ही 

वनराशाजनक होगा। 

117. वोलेटाआल ममेोरी के कुछ बहुत वववशष्ट ईदाहरण 

कैश ममेोरी और रैंिम एक्सेस ममेोरी (RAM) हैं। 

118. ALT+ENTER चयवनत वस्त ुके गणुों को 

प्रदवशतु करता ह।ै ALT+SPACEBAR सवक्रय 

वविंो के वलए शॉटुकट मनेू खोलता ह.ै 

119. BIOS (बेवसक आनपटु/अईटपटु वसस्टम) वह 

प्रोग्राम ह ैवजसे कंप्यटूर का माआक्रोप्रोसेसर चालू करन ेके 

बाद कंप्यटूर वसस्टम को शरुू करने के वलए ईपयोग करता 

ह।ै यह कंप्यटूर के ऑपरेवटंग वसस्टम (OS) और संलग्न 

ईपकरणों, जसैे हािु विस्क, वीवियो एिॉप्टर, कीबोिु, 

माईस और वप्रंटर के बीच िेटा प्रवाह का प्रबंधन भी करता 

ह।ै 

120. USB शब्द "यवूनवसुल सीररयल बस" के वलए 

ह।ै USB केबल ऄसेंबवलयाँ कुछ सबसे लोकवप्रय केबल 

प्रकार ईपलब्ध हैं, वजनका ईपयोग ज्यादातर कंप्यटूर को 

पररधीय ईपकरणों जसैे कैमरा, कैमकोिुर, वप्रंटर, स्कैनर, 

और बहुत कुछ से जोडन ेके वलए वकया जाता ह।ै 

121. वविंोज लोगो + इ 

122. एचटीएमएल 

123. सेकें िरी स्टोरेज में हािु विस्क ड्राआव (HDDs), 

सॉवलि-स्टेट ड्राआव (SSDs), ऑवप्टकल विस्क, 

USB फ्लैश ड्राआव, फ्लॉपी विस्क या ऄन्य विवाआस 

शावमल हो सकते हैं। 

124. कायुक्रम वनष्पादन। ममेोरी प्रबंधन वचुुऄल ममेोरी 

मल्टीटावस्कंग। I/O संचालन को संभालना। फाआल वसस्टम 

का हरेफेर। 

125. ररयल-टाआम ऑपरेवटंग वसस्टम के ईदाहरण: 

एयरलाआन टै्रवफक कंट्रोल वसस्टम, कमांि कंट्रोल वसस्टम, 

एयरलाआसं ररजवशेन वसस्टम, हाटु पेसमकेर, नेटवकु 

मल्टीमीविया वसस्टम, रोबोट अवद। हािु ररयल-टाआम 

ऑपरेवटंग वसस्टम: ये ऑपरेवटंग वसस्टम महत्वपणूु कायों 

को परूा करन ेकी गारंटी दतेे हैं। समय की एक सीमा के 

भीतर। 
 



 

REASONING 

126.ANSWER: A. 88 
Solution: This sequence represents a series 

in which from the reverse order a prime 

number is added: 

53+5=58 

58+7=65 

65+11=76 

76+13=89 

89+17=106 

106+19=125 

Hence 88 is the answer. 

127.ANSWER: D. 2124 

Solution: The following pattern has been 

followed in this question: 

16 = 15 x 1 + 1 

34 = 16 x 2 + 2 

We have established that previous number 

is multiplied by increasing numbers 

(1,2,3,4.....) and then added by increasing 

numbers (1,2,3,4...) 

105 = 34 x 3 + 3 

424 = 105 x 4 + 4 

2125 = 424 x 5 + 5 

=> 2124 is incorrect 

128.ANSWER: C. 4 

The equation for this problem can be made 

as: 5x + 7y =38 

Where x is the number of watermelons and 

y is the number of pineapples. 

Now test for 2, 3 and 4: 

For y = 2 

5x + 14 =38 

x is not an integer 

For y = 3 

5x = 17 

X not an integer 

For y =4 

X = 2 

So 4 pineapples and 2 watermelons can be 

bought by 38 Rs. 

129.ANSWER: B. Sunday 

15th August 2010 can be written as 2009 + 

days from 1st January 2010 to 15th August 

2010. 

=> Total number of odd days in 400 years 

= 0 

Hence, total number of odd days in 2000 

years = 0 (as 2000 is a perfect multiple of 

400) 

Odd in days in the period 2001-2009: 

7 normal years + 2 leap yeas 

=> (7*1) + (2*2) = 11 

=> Odd days will be 11- (7*1) = 4 

Days from January 1 to August 15 in 2010: 

31+28+31+30+31+30+31+15 

= 227 days. 

= 32 weeks and 3 days, this gives 

additional 3 odd days. 

=> Total odd days= 3+4=7 

=> 7 odd days=1 week= 0 odd days 

=> 0 odd days= Sunday 

Thus, 15th August 2010 was a Sunday. 

130.ANSWER: B. 130 

When minute hand is behind the hour 

hand, the angle between the minute hand 

and hour hand at M minutes past H hours 

is given by: 

=> 30 * (H-M/5) + M/2 

When minute hand is ahead of hour hand, 

the formula becomes: 

=> 30* (M/5-H) – M/2 

Applying the second formula as here the 

minutes hand is ahead of the hour hand. 

=> 30* (40/5-3) – 40/2 

=> 30* (8-3) – 20 

=> 30*5 – 20 

=> 150-20 

=> 130 

Thus the angle formed is 130 degrees. 

131.ANSWER: (A) 21 

(34-12)x5 = 110 

(13-6)x5=35 

(n-9)x5 =60 => 5n =60+45 = 105 

=> n=105/5 =21 

132.ANSWER: (B) Only conclusion II 

follows 

133.ANSWER: (A) Sister-in-law / sister-

in-law / sister-in-law 

134.ANSWER: (B) 2, 1, 5, 4, 3 

135.ANSWER: (d) South-West 



 

1800 CW- 1350 ACW = 450 CW 

136.ANSWER: (b) 50 meters 

(AB)2 = 402 + 302 = 1600+900 =2500 = 

502 

AB = 50 

137.ANSWER: (d) 22 

138.ANSWER: (c) 9 

139.ANSWER: (c) 13 

140.ANSWER: (a) 24 

n3 = 64, n = 4 

12(n-2) = 24 

141.ANSWER: (b) 8 

n3 = 64, x = 4 

Surface painted red = 2 (n-2)2 = 8 

142.ANSWER :(c) 27 

n = 5/1 = 5 

Cubes without color = (n-2)3 = 33 =27 

143.ANSWER (D)G 

144.ANSWER: (A) (547, 258) 

7+2+3 = 12, 122 = 144 

8+1+2=11, 112 = 121 

5+4+6 = 15, 152 = 225 

5+4+7 = 16, 162 = 256 (not 258) 

145.ANSWER: (D) (17, 256, 324) 

(12, 121, 169) = 12, (12-1)2, (12+1)2 

(17, 256, 324) = 17, (17-1)2, (17+1)2 

146.ANSWER: (B) QCR 

+1, +0, +1 

147.ANSWER: (A) Diarrhea 

148.ANSWER: (C) 15 : 18 : 11 

149.ANSWER: (C) P,D,M,J,N,O,N 

150.ANSWER: (D) 361 

112, 132, 152, 172, 192 

GENERAL KNOLEDGE 

151. Acharya Varahmihir 

152. Annual average rainfall for the State 

is 1160 mm, with the heaviest rains in the 

south eastern parts and decreasing towards 

the north-west. Most of the rainfall is 

received from the South West 

monsoon during June to September; which, 

in Madhya Pradesh, accounts for more than 

90% of the total annual rainfall. 

153. North-west 

154. The book ―Six Machine: I Don't Like 

Cricket … I Love It‖ is the 

autobiography of Jamaican cricketer Chris 

Gayle. 

155. Designed by architect Charles 

Correa for the state government of Madhya 

Pradesh, it was commissioned in 1980, but 

construction did not begin until 1983 and 

was finally completed in 1993. 

156. The present state of Madhya Pradesh, 

as is well known, was originally created as 

Central Province on 02/11/1861, as 

Judicial Commission's territory and was 

administered by the Judicial 

Commissioner. The Judicial 

Commissioner's court at Nagpur was, at 

that time, the highest Court of the 

territory.  

157. The Uttar Pradesh government 

approved the development of the first tiger 

reserve in the Bundelkhand region of the 

state on September 28. The UP government 

also approved the notification of Ranipur 

Wildlife Sanctuary under the Wildlife 

Protection Act, 1972. 

158. Agartala, November 29, 2022: In a 

first-of-its-kind in India, the foundation 

stone of the Dhamma Dipa International 

Buddhist University (DDIBU) was 

unveiled near Sabroom Helipad in South 

Tripura district on Tuesday. 

159. Rajinikanth won the Dadasaheb 

Phalke Award in 2019 and got awarded in 

2021, whereas Asha Parekh won this award 

in 2020 but will receive it in 2022 due to 

the COVID pandemic. 

160. Author-poet Meena Kandasamy wins 

the German PEN award 

161. Dr Rajiv Bahl has been appointed as 

the new director general of the Indian 

Council of Medical Research (ICMR)-

cum-secretary of the department of health 

Research for a period of three years. Bahl 

currently heads the research on maternal, 

newborn child and adolescent health cum-



 

newborn unit on maternal, Department of 

Maternal Newborn Child and Adolescent 

Health and Ageing, at the World Health 

Organisation (WHO) in Geneva. 

162. The Theosophical Society was 

founded by Madame H. P. Blavatsky and 

Colonel Olcott in New York in 1875. In 

1882, the headquarters of the Society were 

established in Adyar, near Madras (now 

Chennai) in India. 

163. The Kushans were the first rulers in 

India to issue gold coins on a wide scale. 

164. Persian was a language of choice in 

the court of the Delhi Sultanate in the 

medieval era. 

165. Mohandas Karamchand Gandhi – 

Iron man 

166. Sarojini Naidu was elected as the 

President of the Indian National Congress 

Party in 1925, the first ever woman to 

assume that position. 

167. 42nd Amendment Act, 1976 is one of 

the most important amendments to the 

Indian Constitution. It was enacted by the 

Indian National Congress headed by Indira 

Gandhi then. Due to the large number of 

amendments this act has brought to the 

Indian Constitution, it is also known as 

'Mini-Constitution. 

168. In British parliamentary practice, the 

Official Opposition Shadow Cabinet 

(usually known simply as the shadow 

cabinet) consists of senior members of His 

Majesty's Loyal Opposition who scrutinise 

their corresponding government ministers, 

develop alternative policies, hold the 

government to account for its actions  

169. The first open competition for the 

service was held in England in June, 1893, 

and 10 top candidates were appointed as 

Probationary Assistant Superintendents of 

Police. 

170. The Preamble has been amended 

only once so far, in 1976, by the 42nd 

Constitutional Amendment Act, 1976. The 

amendment added three new words: 

Socialist. Secular. 

171. Lord Canning was the Governor 

General of India when the revolt of 1857 

broke out. He was also the last governor 

general of India as after the revolt 

Company rule came to an end and Lord 

Canning became the First viceroy of India. 

172. He was called Siddhartha Gautama in 

his childhood. His father was king 

Śuddhodana, leader of the Shakya clan in 

what was the growing state of Kosala, and 

his mother was queen Maya. According to 

Buddhist legends, the baby exhibited the 

marks of a great man. 

173. Zishaan A Latif has been named the 

winner of the Ramnath Goenka Award in 

the Photo Journalism category. He 

documented the plight of people who were 

dropped from the National Register of 

Citizens (NRC). 

174. Weightlifter Mirabai Chanu has won 

the BBC Indian Sportswoman of the Year 

award for 2021 on 29 March 2022. 

175. There shall be held at least one 

meeting of a Gram Sabha every three 

months. In 1 year 4 meetings of a Gram 

Sabha are to be convened in a year. 

 

151. अचायु वराहवमवहर 

152. राज्य के वलए वावषकु औसत वषाु 1160 वममी 

ह,ै वजसमें दवक्षण पवूी भागों में भारी बाररश होती ह ैऔर 

ईिर-पविम की ओर कम होती ह।ै ऄवधकांश वषाु जनू से 

वसतंबर के दौरान दवक्षण if'pe मानसनू से प्राप्त होती ह;ै 

जो, मध्य प्रदशे में, कुल वावषकु वषाु का 90% से 

ऄवधक के वलए वजम्मदेार ह।ै 

153. ईिर-पविम 

154. वकताब "वसक्स मशीन: अइ िोंट लाआक वक्रकेट... 

अइ लव आट" जमकैा के वक्रकेटर वक्रस गले की 

अत्मकथा ह।ै 



 

155. मध्य प्रदशे की राज्य सरकार के वलए अवकुटेक्ट 

चाल्स ुकोररुया िारा वि़िाआन वकया गया, आसे 1980 में 

चाल ूवकया गया था, लेवकन वनमाुण 1983 तक शरुू नहीं 

हुअ और ऄतंतः 1993 में परूा हुअ। 

156. मध्य प्रदशे की वतुमान वस्थवत, जसैा वक सववुववदत 

ह,ै मलू रूप से 02/11/1861 को मध्य प्रांत के रूप में 

न्यावयक अयोग के क्षेत्र के रूप में बनाया गया था और 

न्यावयक अयकु्त िारा प्रशावसत वकया गया था। नागपरु में 

न्यावयक अयकु्त का न्यायालय ईस समय क्षेत्र का सवोच्च 

न्यायालय था। 

157. ईिर प्रदशे सरकार ने 28 वसतंबर को राज्य के 

बुंदलेखिं क्षेत्र में पहले टाआगर ररजव ुके ववकास को मजंरूी 

दी। यपूी सरकार ने वन्यजीव संरक्षण ऄवधवनयम, 1972 

के तहत रानीपरु वन्यजीव ऄभयारडय की ऄवधसचूना को 

भी मजंरूी दी। 

158. ऄगरतला, 29 नवबंर, 2022: भारत में ऄपनी 

तरह की पहली घटना में, मगंलवार को दवक्षण वत्रपरुा वजले 

में सबरूम हलेीपैि के पास धम्म दीपा ऄतंराुष्ट्रीय बौद्ध 

ववश्वववद्यालय (DDIBU) की अधारवशला रखी गइ। 

159. रजनीकांत ने 2019 में दादासाहबे फाल्के परुस्कार 

जीता और 2021 में सम्मावनत वकया गया, जबवक अशा 

पारेख ने 2020 में यह परुस्कार जीता, लेवकन 2022 में 

आसे COVID महामारी के कारण प्राप्त वकया जाएगा। 

160. लेवखका-कवव मीना कंदासामी ने जमनु पेन परुस्कार 

जीता 

161. िॉ. राजीव बहल को तीन साल की ऄववध के वलए 

भारतीय वचवकत्सा ऄनसंुधान पररषद (अइसीएमअर) के 

नए महावनदशेक-सह-स्वास््य ऄनसंुधान ववभाग के सवचव 

के रूप में वनयकु्त वकया गया ह।ै बहल वतुमान में वजनेवा में 

ववश्व स्वास््य संगिन (WHO) में मातृ, नवजात वशश ु

और वकशोर स्वास््य सह-नवजात आकाइ, मात ृनवजात 

वशश ुववभाग और वकशोर स्वास््य और ईम्र बढ़ने पर शोध 

का नेततृ्व करते हैं। 

162. वथयोसोवफकल सोसाआटी की स्थापना 1875 में 

न्ययूॉकु में मिैम एच.पी. ब्लावात्स्की और कनुल ओल्कोट 

िारा की गइ थी। 1882 में, सोसाआटी का मखु्यालय भारत 

में मद्रास (ऄब चेन्नइ) के पास ऄियार में स्थावपत वकया 

गया था। 

163. कुषाण भारत के पहले शासक थे वजन्होंने बडे पैमाने 

पर सोने के वसक्के जारी वकए। 

164. मध्यकालीन यगु में वदल्ली सल्तनत के दरबार में 

फारसी पसंद की भाषा थी। 

165. मोहनदास करमचंद गांधी - 

लौह परुुष 

166. सरोवजनी नायिू को 1925 में भारतीय राष्ट्रीय 

कांग्रेस पाटी के ऄध्यक्ष के रूप में चनुा गया था, वह पद 

ग्रहण करन ेवाली पहली मवहला थीं। 

167. 42वा ँसंशोधन ऄवधवनयम, 1976 भारतीय 

संववधान के सबसे महत्वपणूु संशोधनों में से एक ह।ै यह 

तब आवंदरा गांधी की ऄध्यक्षता वाली भारतीय राष्ट्रीय 

कांग्रेस िारा ऄवधवनयवमत वकया गया था। आस ऄवधवनयम 

िारा भारतीय संववधान में बडी संख्या में संशोधन वकए जाने 

के कारण आसे 'लघ ुसंववधान' भी कहा जाता ह।ै 

168. वब्रवटश संसदीय व्यवहार में, अवधकाररक ववपक्षी 

शिैो कैवबनेट (अमतौर पर शिैो कैवबनेट के रूप में जाना 

जाता ह)ै में महामवहम के वफादार ववपक्ष के वररष्ठ सदस्य 

होते हैं, जो ऄपने संबंवधत सरकारी मवंत्रयों की जांच करते 

हैं, वकैवल्पक नीवतयां ववकवसत करते हैं, सरकार को ऄपने 

कायों के वलए वजम्मदेार िहराते हैं। 

169. सेवा के वलए पहली खलुी प्रवतयोवगता जनू, 

1893 में आगं्लैंि में अयोवजत की गइ थी और 10 शीषु 

ईम्मीदवारों को प्रोबेशनरी सहायक पवुलस ऄधीक्षक के रूप 

में वनयकु्त वकया गया था। 

170. 1976 में 42वें संवधैावनक संशोधन ऄवधवनयम, 

1976 िारा प्रस्तावना में ऄब तक केवल एक बार 

संशोधन वकया गया ह।ै संशोधन में तीन नए शब्द जोडे गए 

हैं: समाजवादी। धमवुनरपेक्ष। 

171. लॉिु कैवनंग भारत के गवनुर जनरल थे जब 1857 

का ववद्रोह हुअ था। वह भारत के ऄवंतम गवनुर जनरल भी 

थे क्योंवक ववद्रोह के बाद कंपनी का शासन समाप्त हो गया 

और लॉिु कैवनंग भारत के पहले वायसराय बने। 



 

172. बचपन में ईन्हें वसद्धाथु गौतम कहा जाता था। ईनके 

वपता राजा शदु्धोदन थे, जो कोशल की बढ़ती हुइ ऄवस्था 

में शाक्य वशं के नेता थे, और ईनकी मा ँरानी माया थीं। 

बौद्ध वकंवदवंतयों के ऄनसुार, बच्चे ने एक महान व्यवक्त के 

लक्षण प्रदवशतु वकए। 

173. वजशान ए लतीफ को फोटो पत्रकाररता श्रेणी में 

रामनाथ गोयनका परुस्कार का ववजतेा नावमत वकया गया ह।ै 

ईन्होंने ईन लोगों की ददुशुा का दस्तावजेीकरण वकया वजन्हें 

नागररकों के राष्ट्रीय रवजस्टर (NRC) से हटा वदया गया 

था। 

174. भारोिोलक मीराबाइ चान ूने 29 माचु 2022 को 

2021 के वलए बीबीसी आवंियन स्पोटु्सवमुन ऑफ द इयर 

का परुस्कार जीता ह।ै 

175. हर तीन महीने में ग्राम सभा की कम से कम एक 

बैिक होगी। 1 वष ुमें ग्राम सभा की 4 बैिकें  एक वषु में 

बलुाइ जानी हैं। 

GENERAL MANAGEMENT 

176.Answer : 

ekuo lalk/ku izca/ku 

177.Answer : 

m|e izdk;Z }kjk 

178.Answer : 

izks|ksfxdh 

179.Answer : 

dk;Z uSfrdrk 

180.Answer : 

lwphxr dEifu;k¡ 

181.Answer : 

tc ykHk dk va'k] /kkfjr gksrk gSA 

182.Answer : 

iqujkorhZ dk;Z vkSj useh dk;Z 

183.Answer : 

LFkk;h ifjlaifÙk;ka 

184.Answer : 

c`gr~ foi.ku 

185.Answer : 

iw¡th voLFkk ds :i esa /ku 

186.Answer : 

vuqlwpu 

187.Answer : 

mRikn 

188.Answer : 

[kkrk & cgh 

189.Answer : 

vk;] O;; ls vf/kd gks 

190.Answer : 

1] 2] 3] 4 

191.Answer : 

cktkj vuqla/kku 

192.Answer : 

rkfydk ¼eky&lwph½ 

193.Answer: 

fofHkUu fgr/kkjdksa ¼LVsdgksYMlZ½ ds fy, 

194.Answer : 

[kqnjk jksdM+ cgh 

195.Answer : 

,uihoh] izkjfEHkd fuos'k ls de gSA 

196.Answer : 

izR;k;kstu 

197.Answer : 

fcfYMax vdkmaV ¼fuekZ.k [kkrk½ 

198.Answer : 

'kh"kZ izca/kd 

199.Answer : 

daI;wVj ekWMfyax 

200.Answer : 

mís'; vk/kkfjr izca/ku 

 


